BSNL JTO Model Test Paper – III
(SOLVED)

PART - 2
26. In the network shown in the given fig. current i = 0 when E = 4V, I = 2A and I = 1A when E = 8V, I = 2A. The Thevenin voltage and the resistance into the terminals AB are –





a. )4V, 2W

b.) 4V, 4W

c.) 8V, 2W

d.) 8V, 4W

Ans. b.) 4V, 4 Ohms

27. The effective resistance between the terminals A and B in the circuit shown in the fig. is –




a.) R

b.) R-1

c.) R/2

d.) 6/11 R

Ans. c )R/2

28. When in a two terminal network, the open circuit voltage measured at the given terminals by an electronic voltmeter is 100V and a short circuit current measured at the same terminals by an ammeter of negligible resistance is 5A then if a resistor of 80W is connected at the same terminal, then the current in the load resistor will be –
a. )1A

b.) 1.25A

c). 6A

d.) 6.25A

Ans. a.)1A

29. If for the network shown in the following fig. the value of Z(s) is   

then the value of C and R are respectively –

30. In Faraday’s induction phenomenon, a changing magnetic field is accompanied by an electric field. Which of the following equation or equations represents it-

The electric potential due to an electric dipole of length L at point distance r away from it will be doubled if the -
a. ) Length L of the dipole is doubled

b. ) r is doubled

c. ) r is halved

d ) L is halved

When a particular mode is excited in a waveguide there appears an extra electric component in the direction of propogation . The resulting mode is
a. ) Longitudinal electric

b. ) Transverse electromagnetic

c. ) Transverse magnetic

d ). Transverse electric

When for a transmission line the open circuit and short circuit impedance are 20W and 5 W respectively then the characteristic impedance of the line is -
a. ) 100 Ohms

b ). 50 Ohms

c. ) 25 Ohms

d. ) 10 Ohms

In an ideal transmission line with matched load, the voltage standing wave ratio and reflection coefficient are respectively -
a. ) 1 and 1

b ). infinity and 1

c ) infinity and 0

d. ) 1 and 0

When an electric charge of 100 coulombs is enclosed in sphere of radius 100 m then the electric displacement density ( in coulomb / m2) D is –
a. ) 0.0833

b ). 0.833

c. ) 1.666

d. ) 10

For the dominant mode in a rectangular wavelength with breadth 10 cm, the guide wavelength for a signal of 2.5 GHz will be -
a. ) 12 cm

b. ) 15 cm

c. ) 18 cm

d. ) 20 cm

When the phase velocity of an electromagnetic waves depends on frequency in any medium, the phenomenon is called-
a. ) Scattering

b. )Polarization

c. ) Absorption

d. ) Dispersion

Antennas commonly used for microwave links are -

a. ) Loop antenna

b. ) Log-periodic antennas

c. ) Paraboloidal dishes

39. One of the following instrument which may be used to measure the optical activity of compounds is –
a. )Infrared spectrometer

b. ) Atomic absorption spectrometer

c. ) Polarimeter

d. ) Flouroscope

Schering bridge measures –
a. )Capacitance dielectric loss

b. ) Inductance

c. )Resistance

d. ) Mutual inductance

When a square wave is fed to an RC circuit, then –
a. ) voltage across R is square and across C is not square

b. ) voltage across C is not square and across R is not square

c. ) voltage across both R and C are square

d. ) voltage across both R and C are not square

The time constant of the RC circuit is –
a. ) less than the time period of the input square wave.

b ). much larger than the time period of the input square wave.

c. ) equal to the time period of the input square wave.

d ). none

Harmonic distortion for each frequency can be obtained by harmonic analyser of the –
a. )heterodyne type

b. ) tuned circuit type

c. ) fundamental suppression type`

d. ) bridge circuit type.

A three phase wattmeter requires –
a ). only two current coils and two pressure coils

b. )only one current coil and two pressure coil

c. ) only two current coils and one pressure coil

d. ) only current coil

A low pass filter circuit is basically –
a. ) a differentiating circuit with low time constant

b. ) a differentiating circuit with large time constant.

c. ) an integrating circuit with low time constant.

d. )an integrating circuit with large time constant.

If the differential pressure in restriction type flow measuring devices is then the flow will be proportional to –

When a system is represented by the transfer function then the dc gain of this system is –
a.) 1

b.) 2

c.) 5

d.) 10

Silicon based semiconductor device called thyristor was first fabricated by –

a). Jell laboratories in U.S.A

b). Maxwell laboratories in U.S.A

c.) Bell laboratories in U.S.A

d). GEC laboratories in U.S.A

A semiconductor based temperature transducer has a temperature coefficient of –2500mV/0C. This transducer is indeed a –

a.)Thermistor

b.) Forward biased pn junction diode

c. )Reverse biased pn junction diode

d.) FET

Which of the followings pairs of Telemetry situations and Modulation techniques and conditions is correctly matched-

a. )Pulse amplitude modulation Low amplitude signals

b. )Pulse position modulation For short distance when power is enough

c.) Pulse width modulation Power to be spent in telemetry is required to be low

d.) Pulse code modulation. Minimisation of interference effects.

The SCR ratings di/dt in A/m sec and dv/dt in n/m sec, may vary, respectively between-

a.) 20 to 500, 10 to 100

b. )both 20 to 500

c.) both 10 to 100

d.) 50 to 300, 20 to 500

Match the given controlled rectifiers with 50 Hz supply

a. )1 phase full converter with source inductance

b. )3 phase full converter

c.)3 phase semiconductor

d. )3 phase halls wave converter

For natural or forced commutation the cyclo converters (CCs) requires as under.
a) natural commutation in both step up and step down CCs

b.) forced commutation in both step up and step down CCs

c.) forced commutation in step up CCs

d). forced commutation in step down CCs

The peak inverse voltage in ac to dc converter system is highest in-
a). single phase full wave mid point converter

b). single phase full converter

c) 3 phase bridge converter

d). 3 phase half wave converter.

A single phase full converter feeds power to RLE load with R = 6 W L = 6 MH and E = 60 V. The ac source voltage is 230 V, 50 Hz, For continuous conduction, the average value of load current for a firing angle delay of 50 is
a.)12.181 A

b). 14.81 A

c). 16.76 A

d.) 32.40 A

